


ITEM PART MODEL NO. PART DESCRIPTION
市場想定売価

【税抜き】

0A01 PF1001-515A PEDAL BEATER ASSEMBLY ¥2,800

0A02 P1001-645TB MEMORY  LOCK ¥650

0A03 SF0500120 KEY SCREW x 2 set ¥300

0A04 SI0600080TL Hexagonal Screw - M6 x P1.0 x 8.  x 2 set ¥700

0A05 P1000-528NB BEATER WEIGHT (20G) ¥600

0A06 P1000-527NC BEATER WEIGHT (10G) ¥600

0B00 KZWA059A Drum Key

0B01 4106-941 HEX WRENCH (3MM)

0B02 S-KZWA061 Drum Key

0B03 X491C100 Drum Key Bag

0C01 SFMT0600220 KEY SCREW x 2 set ¥1,200

0C02 P1003-575EB CAM HOLDER NUT x 2 set ¥500

0C03 SFMT0600140 KEY SCREW x 4 set ¥400

0C04 PF1002-255A CHAIN ASSEMBLY ¥2,500

0D01 P1001-553A HOOP CLAMP PRVOT ADJUSTER ASSEMBLY. ¥1,200

0D02 WS10506312 Spring Washer - 10.5 x 6.3 x 1.2. x 2 set ¥300

0D03 P1000-550 Hoop Clamp Nut x 2 set ¥700

0D04 PF1001-535TBA HOOP CLAMP ASSEMBLY ¥1,500

0D05 P1000-934 Hoop Clamp Spring x 2 set ¥300

0D06 4A50-533TBA HOOP CLAMP CUSHION ASSEMBLY ¥1,000

0D07 SC0500070B END SCREW x 2 ¥300

0E01 SI0600080TL Hexagonal Screw - M6 x P1.0 x 8.  x 2 set ¥700

0E02 P1000-549 BEATER HOLDER NUT x 2 set ¥700

0E03 SF0600220HC SCREW x 2 set ¥200

0F01 P1001-230TB TOE STOPPER ¥600

0F02 NH060005010 HEXAGON NUT (M6) x 4 set ¥600

0G01 SF0600140HC SCREW x 4 set ¥600

0G02 PF1001-555TBA SPRING CONNECTOR ASSEMBLY ¥3,200

0G03 P1001-560 SPRING x 2 set ¥700

0G04 PF1001-556TBA LOWER SPRING ADJUSTER ASSEMBLY ¥3,600

0G05 4680-576 SPRING ADJUST NUT x 2 set ¥700

0H00 2402-205A Knurled Screw w/Spur Spring and Washer x 2 set ¥700

0H01 2402-205 SPIKE SCREW x 2 set ¥300

0H02 2402-210 SPRING x 2 set ¥300

0H03 WK10506215 Washer - 10.5 x 6.2 x 1.5   x 10 set ¥1,500

0I00 AZ0600200X DIE CAST WING SCREW M6 x 2 set ¥700

0J01 P1000-151L Velcro Plate x 2 set ¥400

0J02 SD0500080B Cross Screw x 4 set ¥400

0J03 P1000-542 B2B platform x 2 set ¥600

0K01 P1001-020 LINKAGE BAR CONNECTOR ¥1,200

0K02 SI0500080TL Hexagonal Screw - M5 x P0.8 x 5L　x 4 set ¥600

0L00 P1001-909 LINKAGE BAR ASSEMBLY. ¥10,000

0L01 SF0600085HC Tension rod (M6*8.5) x 10 set ¥1,500

0M00 P1001-548TBA PF1000, HOOP CLAMP W/ SIDE-MOUD ADJUSTER ¥3,200

フルセット

￥600


